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M.Com
3rd Semester Examination, July-Dec., 2021

Paper - IV

Income Tax Law and Accounts

Time : Three Hours] [Maximum Marks : 80
M W T F IW AN vl oy & e
| T T
Note : Answer all questions. All questions carry equal
marks.
THTE / Unit-I

. ‘AT Tdad & T W Al 21 R/
AT 399 qulaqr Gewd § ? Afg el @ srgare
A |

“Income tax is charged on the income of the
previous year.” Do you fully agree with this
statment ? If not. what are the exceptions ?
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a’tﬁaﬁaaﬁnaaﬁzow—zoaﬁmﬂm
frafafas €

(@) wRa ® IWfSla qer o<
A9 A A (AT Q) 20,000

(b) dAeEd (srfean) A

Ted & AR ¥ N 30,000
() T4 (rfaar) & «ifta
A W YRd ° 9 4,000

@) @ # fem & Jerid

Ysit gHfd & RO W A™ 20,000
(e) TARERR (FTR) H Th

O & HOE W AN S

YRd § WQ g3l 6,000
() & fefen s siframd 2, =i

YRd § &UR & & fag

fed ™ B W W I 5,000

(g) i ¥ 9@ ® AR A
yifafus qaWd 9SHF &3 F
yfaea ¥ @ Faw S ourg
A frardt €, @ 9 3§
T T 20,000

(3)

(h) ¥ ¥ =R W @ @&
YR H 4 T wE S
o ¥ v Jard vem
FAF AP AR AR &
Fo g0 uRd ¥ I6F A&
ad H §Y s s § | 30,000

F-fultor ad 2020-21 F fau @ fasfa
F GHA FA A H WA FiWY, AR T
(¢) framt ¥ (i) emmmw fam R
(iii) AfTaTE 1
The following are the taxable income of Shri
Vijeet for the Previous Year 2019-20:
L 4

(a) Income from salary accrued and

received in India (Computed) 20,000
(b) Profit of a hotel business -

at Melbourne (Australia) 30,000
(c) Dividend declared in Perth

(Australia) but received in India 4,000

(d) Income from transfer of a

long-term capital assets

situated in India 20,000
(e) Interest on debentures of a

company at Manchester (England)

which was received in India 6,000
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(/) Interest received from Shri
Philip. a non-resident on the
loan provided to him for a

business carried on India 5,000

(g) Royalty received in Germany
from Shri Kailash a resident
in India for technical service
provided for a business
carried on in Germany 20,000

(h) Fees from an Indian company
carrying on business at London
for technical service rendered
at London having been directly
deposited by the company in ,
his bank account in India 30,000

Compute Shri Vijeet gross total income for
the Assessment year 2020-21 if he is:

(i) Resident (i) Not ordinarily resident
(iii) Non-resident.

%H18 / Unit-11

fio 3ift@ 2006 @ 3R F eaEERA HUA
# FrRA €1 39 g faxia @ 2019-20 §
fem ™ ¥

(5)

(«) M& Ha AdT 7 4,00,000 f=1 FAfagi
& UvEE g

yaiforg wfae fAfu o sisem 7 72,500
A & 10 yfavd F T W TS F
fertman |

(b) HETE W& % 1,000 WmE (3EH W@
7200 wfaue @ fgfa andf ¥g 3@
A @ )

() A == ¥q forg w1 7 150 i wfd
T= F R Y

@ fewt W 1 wfowm F9vR F R W
% 10,000 |

(¢) TWANSA Wl ¥ 700 WiHE|

(f) e ¥ AN WA T 30,0001 A
W ardfas 49 ¥ 22,000 §3;

J Ff & weE ° wd ¥, fowe sfaa
fopUal 7 10,000 WiaWTE ¥ 1 HOR & 3N
q 3% T dERR au @ W e
T ¥ WAE F T 4,000 W HER

g A fE TR

Y]
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(h)mam@aéﬂm""“@
Froft wam & g 2 @ §1 A
a@mﬁwﬁaﬂ?mm%
@a‘fmwmmmm%'

(@) qafora sy fafe & frvd &1 3REH
?47,soo%|u1‘amﬁfuﬁ10%aﬁat
? 750000 W F w1 R T E

S futo a¥ 2020-21 ¥ faw Sk AA
[ I@ FH A HiSC

Mr. Amit is an employee of a Textile
company of Indore since 2006. He has
submitted the following particulars of his
income for the Financial year 2019-20 :

(a) Net basic salsry ¥4,00,000 after
deduction of contribution to recognized
provident fund ¥ 72,500 and rent of
bunglow @ 10% of salary.

(b) DA % 1,000 per month (¥ 200 p.m. enters
into retirement benefits).

(c) Education Allowance for two children at -

¥ 150 p.m. per child.

(d) Commission on sales @ 1% % 10,000.

(e) Entertainment Allowance ¥ 700 p.m.

" 241_JDB_%* (11)

(7)

(f) Travelling Allowance for his official tours
¥ 30,000. Actual expenditure on tour
amounted to ¥ 22,000.

(g) He resides in the bunglow of the
company. Its fair rent is ¥ 10,000 p.m. A
watchman and a cook have been provided
by the company at the bunglow who were
paid ¥ 4,000 p.m. each.

(h) He has been provided with a large motor
car for his official as well as personal
use. The running- and maintanance costs
are borne by the company.

(i) Emplyer’s contribution to R.PF is
¥ 47,500 and the interest credited to this
fund at 10% rate amounted to ¥ 50,000.

Compute income from his salary for the

Assessment year 2020-21.

37947/ 0R

affs qea F R difee qo wEE
wofa @ o fuio s & fag afts
T W QA e SR A wiga wAfd H
Tuiq SRS

Define ‘Annual Value’ and state the

deductions that are allowed from the annual
value in computing the income from house

property.
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THTE / Unit-I11

3. mﬁqﬁmﬁaﬁmnwwmﬁ%

il @ T FA § A-H FAfl @i
¥ aeliga =@ @ oA AU
Define the term ‘Business’. What deductions

are allowed to a businessman in compu;ing
profits 2 Specify the expenses disallowed.

37947/ OR

p, St @ WER w1 @ R, AW A
feorq femast WA wwfa @ 23 W, 2019
aﬁns,oo,oooﬂ%a%m%mgwwﬁ
1 atifd, 2007 F ¥ 5,16,000 H d fehan o
30 W, 2019 @ IW Y F W we
%15,00,000 F HW IR F @A F fag
#a feanl 1 W, 2020 A P A A Har
el WEE % 17,10,000 H 9= fean

zq @ =EERl 4 I3 gL IS A F T
Fifsw) F0 p gad fawl & wey d w54
¥ ofa # @ g2 W & fau ama R
2007-08 a@wl 2019-20 fada =l & faw
AT ERIfd gERE 129 a4 289 ¥

(9)

P. an owner of three houses, sells a residential
house in Chennai for ¥ 25,00,000 on May 23,
2019. This house was purchased by him on
April 1, 2007 for ¥5,16,000. On May 30,
2019 he purchased a flat in Mumbai for
7 15,00,000 for the purpose of resident of his
son-in-law. On March 1, 2020, P, sells the
house in Mumbai for ¥ 17,10,000.

Compute the capital gains arising on the two
transactions. Is P eligible for exemption under
Section 54 in respect of the second sale?
Cost Inflation Index for the financial year
2007-08 and 2019-20 are 129 and 289.

THE / Unit-1V

4 S0l A g} F amE R e H

A @ WA qW I I F wEdE R
AL

What do you mean by set-off of capital
losses ? Explain the provisions regarding carry
forward and set-off of losses.

37ear/ OR
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s 3w 200 ¥ w yw F IFE
% 1,00,000 § T T W R &

TFH faawaR 2003 § ¥ 545,000 ¥ A
IW W UEE @ S 2019 ¥ ¥ 32,00,000
¥ ¥= fem ok o 2019 W W A
fEas FEH T 12,00,000 TG feran | SqR
31 @ ¥ 40,000 ¥ IFA T # ¥ 50,000
FeafE Tfatwe wue § S |
AP SR gEdiE 2001-02 : 100, 2003-
04 : 109 qU 2019-20 : 289 T
F-Frufior ¢ 2020-21 & fow Fa@ 3@ H
TUAT it

S purchased a plot of land for ¥ 1,00,000 in
May 2001. He constructed a residential house
on that plot at a cost of ¥5,45,000 in
September, 2003. He sold the house in June
2019 for ¥ 32,00,000 and purchased another
residential house in August 2019 for
12,00,000. His other income is ¥ 40,000. He
deposited ¥ 50,000 in PPF during the previous
year.

Cost Inflation Index are 2001-02 : 100, 2003-
04 : 109, 2019-20 : 289.

Compute his total income for the Assessment
year 2020-21.
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5. HUTR (3TNA) & =] o | Frdfafy

H GAY 4 v Fifvw| I=an EeE o
39 AEE F IRV & farg add W
& feuuit fafgw)

Describe briefly the procedure of an appeal
to the Commissioner (Appeals). Write a short

note on appeal to Supreme Court against the
judgement of the High Court.

374497/ OR

Jdfere oM & g fag FaRw) fe
Tfifeafadl § et & HEER
HiHgR Hdue W YAl HE F FHdl
?? wmEmw

Explain the general principles of imposing
penalty. Under what circumstances can the
Principal Commissioner or Commissioner of
Income Tax reduce or waive penalties?
Explain.
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